1.4 Tables of Related Values - Day 2

Common difference relationships:
The top row must count by 1
for +he given pairs.
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R commoan diference = 10
1o {0 start value = 75
a. Express the relationship between the quantities in words.

The cos+() i equal to 1O Hmes
Hhe p@op\e(P> Plu_s 75.

b. Write as a formula.
C=10 P + 19
c. Fill in the missing numbers.
C:\QP+75 C:‘Ofi-—lg C:{OP*—]E C=\0Op+ 15
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C=10{)¥1S  C=10(D+T7>  C=p(D+15 =10(H¥S
C=b0+1S C=70+1S  C=120+71% =150+15

C=13% C =145 c=195 C=225%

HOMEWORK

Worksheet HW 1.4 Tables of Values
Day 2
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N common difference = 50
R0 start value = (00
a. Express the relationship between the quantities in words.

The cost (C) s egual o 50
Hmes the hours Ch) plus [0O.

b. Write as a formula.
C=50n~+ 100

c. Fill in the missing numbers. {AS€. ‘Pcrmmkos
C=50h+100  C=50n+10D  C=5ph+loa0 C=S0h+ 100
C=S0@+I00  C=Sp(n0o TSN C=50()+100
C =200+100 C=250700 C=500+160 C=60T100

C=30 C=350 C=600 C=700
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common dAifferonce=0.15
Start value = 0.05
a. Express the relationship between the quantities in words.
The cost (< s equal Yo 0.15 Hmes
+he ounces (=) pPlus 0.05.
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b. Write as a formula.

C=0.152+0.0%

c. Fill in the missing numbers.

C=0152+005 C=0l52+00% C=0\52+005 (C=152+05
C=0.15(g) t0.05 C=0.1500)t005  C-015(2D+0.05  (C=I5()405
(= 120+0.05 C=150+0.05 C=[Z0+6,05 (C=3.00t.05
C=| C

25 C =155 =1.85 C=3.05



